Sample Mean Intensity with

Standard Deviation

1.15 -

1.10 -
1.05 4
1.00 A

0.95

0.90 A
0.85 -

0.80

18 -
16 -
14 4

Number of Cells [%)]

-
o

oON B O @

250 1000 5000 10000 20000
Number of Cells / “Artificial Culture®

nlB4-negativ
nlB4 positiv
pall

nn

1416182022242628 303234 3638404244
Cell Diameter [um]

Number of Cells [%]

Mean Intensity

= |B4+Uncoupled Lectin

= B4

-
N
1

-
o
1

o
[«
1

o
o
1

o
IS
1

o©
N
1

0.5

o
o

IB4(+) pErk1/2

IB4(-) pErk1/2

IB4(+) Erk1/2

IB4(-) Erk1/2




